Question: Which categories have been taken into the ambit of Aptitude testing in CBT
(Computer based Testing) mode at present?

Answer: At present the category of Assistant Station Master/Traffic Assistant is in the ambit
of Aptitude Testing in CBT (Computer based Testing) mode.

Question: What points are to be kept in mind for Aptitude test in Computer based
testing (CBT)?

Answer: Following points are to be kept in mind for Aptitude test in Computer based testing
(CBT):

1. Understand the examples to do better in the test.

2. Stay focussed on every question of every test throughout so that you are able to gain
maximum scores.

3. Keep in mind the time allotted for the test and try to finish within the stipulated time.

If you find any question difficult, don’t waste time on it. Proceed to the next question.

5. In the rest period between two tests try to relax so that you are able to focus again on
the next test.

&

Question: What is the criterion to qualify in aptitude test and what is the formula to
calculate T-score?

Answer: In order to qualify in aptitude tests, the candidates are required to obtain T-score >
42 in each test. T-score is the normalized score statistically formulated for application all
over. The formula for computing the T-score is as under:

x—Mean
SD

T=50+10 ( ) , (Where x is candidate’s score in the test)

The above formula for obtaining T-score is scientifically established.
Question: Is there any provision of reservation in Aptitude Test?

Answer: No, Aptitude test is meant for recruitment of Safety Categories of Staff, hence there
is no provision of reservation in Aptitude testing.

Question: Is there any negative marking in Aptitude Test?

Answer: No, Aptitude test is meant for assessment of required cognitive attribute in a
candidate and hence there is no negative marking.

Question: Is cut-off criteria for determining suitability of candidates same all over the
country?

Answer: The cut-off criteria for determining suitability of candidates is same in all the RRBs,
all over the country. The qualifying marks of aptitude tests for all the RRBs are same and
there is no variation at all.



Question: Why aptitude tests are conducted and what are the categories for which
aptitude tests are mandatory for recruitment in Railways? How the marks obtained by
a candidate in RRB examination and Aptitude Test are calculated for selection of a
candidate?

Answer: As per the selection criteria approved by the Ministry of Railways, Aptitude Tests
are administered on the candidates appearing for selection as safety category staff on Indian
Railways through different RRBs at the entry level of Assistant Station Master and Assistant
Loco Pilot for assessment of cognitive ability of the candidates with a purpose to ensure that
the candidates possessing the desired level of attributes, essential for safe train operation, are
selected. It is also informed that the scores of a candidate in RRB examination and thereafter
in Aptitude Test as a part thereof are apportioned in the ratio of 70: 30 for preparation of the
final merit list.

Question: When Aptitude test of Assistant Station Master consists of 4 tests then why
the scores of 5 tests get generated?

Answer: In the paper-pencil mode until now the Aptitude test battery of Assistant Station
Master consisted of a total of 4 tests. The fourth test of personality assesses 2 different
attributes and hence five scores get generated. If a candidate fails in any one of the attributes
then he is declared unsuitable. But in the present scenario, the Aptitude of ASMs/Traffic
Assistants will be conducted in the CBT mode and here the test battery will have 5 different
tests instead of 4 as earlier and so six scores will get generated.

Question: How to calculate T-Score and composite Score of a candidate in Aptitude
Test?

Answer: Norms and standards as laid down from time to time shall be applied uniformly to
all candidates for adjudging their suitability. The cut-off for Tests is fixed on the basis of
Normalized T-score. The Mean of normalized T-score is 50 and its SD is 10. The basic
parameters required to calculate T-score are Mean and Standard Deviation calculated from
normalized sample. The range of the T-score is 20 to 80.

The formula to calculate T-score is:

x—Mean

T=50+10 ( e

) , (where x is candidate’s score in the test)

The T-score for dummy subject for a test can be calculated as follows:
Dummy subject score on Test 1 = 20
Dummy Mean of Test 1 on normative sample = 14

Dummy SD of Test 1 on normative sample = 3

20-14
3

T=50+10 ( ) = 50+10 (2)= 70



Calculation of composite score is as follows

As weightage to aptitude test is 30, the composite score of a dummy subject can be calculated
as follows:

Composite T-score of a candidate having 5 tests in a battery is = 300
The max T-score a candidate can obtain having 5 tests in a battery is (80x5) = 400.
The composite score out of 30 is:

* Qut of 400 score candidate scored = 300

300+30

*0utof305cm-ewi||be=(400

)=225
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